
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.248 × ________ = 10248 5.819 × ________ = 581.9

8.114 × ________ = 8114 8.857 × ________ = 885.7

5.862 × ________ = 586.2 8.489 × ________ = 8489

5.145 × ________ = 514.5 10.82 × ________ = 10820

5.24 × ________ = 5240 6.422 × ________ = 642.2

5.995 × ________ = 59.95 7.809 × ________ = 78.09

6.282 × ________ = 62.82 3.5 × ________ = 35

10.878 × ________ = 1087.8 7.971 × ________ = 797.1

2.908 × ________ = 2908 6.381 × ________ = 63.81

9.4 × ________ = 940 8.208 × ________ = 8208
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.248 × 1000 = 10248 5.819 × 100 = 581.9

8.114 × 1000 = 8114 8.857 × 100 = 885.7

5.862 × 100 = 586.2 8.489 × 1000 = 8489

5.145 × 100 = 514.5 10.82 × 1000 = 10820

5.24 × 1000 = 5240 6.422 × 100 = 642.2

5.995 × 10 = 59.95 7.809 × 10 = 78.09

6.282 × 10 = 62.82 3.5 × 10 = 35

10.878 × 100 = 1087.8 7.971 × 100 = 797.1

2.908 × 1000 = 2908 6.381 × 10 = 63.81

9.4 × 100 = 940 8.208 × 1000 = 8208
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